
(urumumntd brl'

"nrurlpru2bttJt 2uU Fng)) <nUq

Stropbb'

"'[ru{pu2btrlr 2ru]urlrumh +qnng)' <nU

qLnFuubnh qluu *
t

.{c
3

cv

cllrrlrutr unun
tltfub 6tr
(ptprugru

Iu,nqn)

aurh
rlrutt

dJtu{npp
9rutruIp

Ulru{nplr
qhtra

Ctquilbhp
6uluubpp

(+pud)

U[r2tubgb\

\n4b pun
CPV 4tuuut
\rupqtfutr

utrr[rutrnrrlp

I 2 3 4 7 5 6

$lrtrrutruru{npdutt
urIFJnlFE

2024p,, Up rn u qq p ng u ! tutr 4u u tn fr ru p u l; n tp; n rh,,

Onrqhn prudJrtr 09. funrrlp 05. 4uu 0l

eu +uu bu c uunu3n FrdSn FLU bF 758944

4212 65400000 h1h\urpruLtrhftqh*lh pur2]urftutr brunur3ntplnttr UU lltlm 4098,73 53,48 219200

42r3 65100000 aplr pru2]uttutr burnurlntpl mh r.Iu d3 216,491 200,47 43400

65200000 thnmgriurLr qbm[ uu .I4P 113,72885 1981,907 225400

6521 I 100 thnnrgrfiuh hrurfur\urpqndt qbnq uu tnurplr I 75000 75000

90s00000 Uryruhurtrntplutr qbn{ rJu udfru 12 1412 16944

4241 723trr30 Zurtfiu\urpqtt:lthnh urhlu.uquruurp\tfurh brunurlntp3nth uu hurur I 9000 9000

72271724
Zurtfru\urpqturJbb bp*qnh lt \*lph uqururuptltfurtr

bunurlntp3nth
uu hrurn I 107000 107000

98390000 h1. Utnnpruqpntplnttr UU hrutn I 3000 3000

974t8000 *trmritrhpfr hrft1q bunrulntplnthhhp uu hurur 1 60000 60000

4214 64200000 trutrqh brunrulntplnr-h' ru14 pr[ntrf 177600

64200000 blrpurlurb hhnurlunuur\ruq UU urlfu t2 4800 57600

64200001 Ftrurhptrhur burnurl ntpl nttrhhp uu ilqp T2 10000 120000

426r Qphhur\urtr ruqptutrptrhpfr Ahnpphprfiuh qEnt[ uu htuur I 80000 80000

5221 Strurhuru\urtr ruqptutrptrhplr Ahnpphptftuh qbnrl UU huu I 100000 100000
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